Series and Sequences Test
September 2003

Instructions Name
* Show all necessary working
* Use separate paper

Question One (14 marks)

a) For the sequence 9, 15, 21 ,..........
1) Find the thirty - first term
i) Find the sum of the first thirty one terms
iii) Is 261 a term of the sequence? (give reasons for your answer)
iv) How many terms are less than 5007

b) Find the first term and common ratio of a geometric sequence in which the second
term is 19 and the fifth term is 152.

c) Find the sum of the first 22 terms of the series 8+12+18+27 +.vvernr....

d@+x),(3-2x), and (7 + 4x) are successive terms of an arithmetic progression. Find
the value of x.

Question Two (2 marks)

Find the compound interest earned if $10 000 is invested at 4%pa for five years.

Question Three (6 marks)

a) The sum of the first three terms of an arithmetic progression is 15. The seventh term is
20 more than the fourth term. Find the first term and the common difference.

16
b) Evaluate ) 5x 2"

n=4

Question Four (3 marks)

If 142x+4x 4. = % , find the value of x.

Question Five (3 marks)

The sum of n terms of an arithmetic sequence is give by S, = 3n+2n>.

a) Find the first term.
b) Find the common difference.

Question Six ( 5 marks)

a) A woman invests $5000 at the beginning of each year into a superannuation scheme. If
interest is paid at the rate of 8% pa on the investment (compounded annually), how much

will the investment be worth after 10 years?
b)How much would the above investment be worth if the interest is compounded every 6

months? (Hint: 8%pa = 4% every six months)
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